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\ Science Olympiad - Boyceville 2016 - Dynamic Planet Event Test

Instructions: For multiple choice questions, write the letter of the best answer on the line. For other
questions, fill in the blanks or label as directed. Look over the whole exam, and focus on places in which
you can maximize your points earned. Possible points are shown in brackets.
In the space below, explain the difference
Physical Layers EARTH  composition Layers between “composition” & “physical” layers.

, i Explain a detailed example of each. [4]
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Match each description to a letter from the diagram above. [8]
7, 0
Tr= inner core 7 core 7 mantle "D( lithosphere 3
Y

H mesosphere E crust L~ asthenosphere [ outer core
3 The Mohorovicic Discontinuity is found between layers... [1]  suuke o1 d cets - -

1.A&B 2.A&C (@B&D 4 E&F b5B&G 6.F&G 7.C&H 8. D&E \

The Wiechert-Gutenberg Discontinuity is found between layers... [1] \thaflert, oo HC
1.A&B @A&C 3.B&D 4. E&F 5 B&G 6.F&G 7.C&H B8.D&E

{ ,\ The Mohorovicic & Wiechert—Gutenberg Discontinuities are defined by a distinct change in... [1] - \
(’a};.seismic wave velocity b. pressure  c. temperature d. water content  e. disconometer
N\

Which layer is completely broken into tectonic plates? [1]
@crust b. asthenosphere  c. mantle  d. lithosphere  e.core f. mesosphere

\
! ) Upon which soft layer do the tectonic plates move due to convection currents in the layer? [1] \
a. crust @asthenosphere c.mantle  d.lithosphere  e.core f mesosphere

How are the inner and outer core different from one another? [2] :
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The inner core is hotter than the outer. How can their physical difference be explained? [3]
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